Robert E, Shannon
City Attorney of Long Beach
cean Bou%evard
Long Beach, California 90802-4664
Telephone (562) 570-2200

333 West O

e e Y Y S

[ T N T S T N T N T N N R S R S L o T S e e e T S
00 3 O W R W N = O 0 Y N AW NN e

AGREEMENT

30030

THIS AGREEMENT is made and entered, in duplicate, as of March 1, 2007

for reference purposes only, pursuant to Resolution No. RES-07-0017 adopted by the City

Council of the City of Long Beach at its meeting on February 6, 2007, by and between
limited partnership

ANVIL INTERNATIONAL/I-NG ,a Delaware/eerperation (“Vendor”)and the CITY OF LONG

BEACH (“City"), a municipal corporation.

WHEREAS, City, acting through its Gas and Oil Department, desires to
purchase certain Mueller gas pipe fittings, tools and other specialized equipment and
services from Vendor, and Vendor desires to sell the same to City;

NOW, THEREFORE, in consideration of the terms and conditions contained
in this Agreement, the parties agree as follows:

1. Vendor shall furnish those certain Mueller goods and services specified
in Exhibit “A” attached hereto at the prices included therein, and otherwise in accordance
with the termé and conditions of this Agreement.

2. City shall purchase such products as and when it deems necessary, but
in no event shall the aggregate amount of purchases made hereunder exceed $150,000.
City shall not be obligated to make any purchase under this Agreement. The term of this
Agreement shall be one (1) year from the date of execution by both parties, and the City
shall have the option to extend the term of this Agreement for two additional one-year
periods.

3. Payment for such products purchased from Vendor by City shall be made
by City on delivery to and acceptance of the equipment by City and submission of an
invoice to City. Payment is due thirty (30) days after the date of the invoice.

4. All warranties shall accrue to the City of Long Beach.

5. Neither this Agreement nor any money that becomes due to Vendor under

this Agreement may be assigned by Vendor without the prior written consent of the City

Manager or his designee.




Beach
evard

West Ocean Bou%
LongTBeach, California 90802-4664

Robert E. Shannon
elephone (562) 570-2200

y Attorney of Lon

Cit
333

O 0 3 O

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

6. Any notice given under this Agreement shall be in writing and personally
delivered or deposited in the U.S. Postal Service, return receipt, and shall be delivered or
mailed to the respective parties at the addresses listed below.

Anvil International, e LP
1385 Greg Street

Sparks, Nevada 89431
Attn: Mr. Mike Gray

Tel: (800) 572-0051
Tax ID:_

City of Long Beach
Department of Gas & Qil
2400 E. Spring Street

Long Beach, California 90806
Attn: Sigmund Jacoby

7. Vendor shall cooperate with the City in all matters relating to self-accrual
of use tax. Vendor shall contact the City Treasurer for additional information regarding
self-accrual.

8. Vendor shall, with respect to all services performed hereunder, indemnify
and hold harmless City, its Boards and commissions, and their officials, employees, and
agents (collectively in this Section “City”) from and against any and all liability, claims,
demands, damage, loss, causes of action, proceedings, penalties, costs and expenses
(including but not limited to attorney’s fees, court costs, and expert and witness
fees)(collectively “Claims” or individually “Claim”) arising, in whole or in part, from: 1) any
negligent act or omission of Vendor, its officers, employees, agents, invitees, or anyone
under Vendor's control (collectively “Indemnitor”); 2) Vendor’s breach of this Agreement;
3) Vendor's misrepresentation or willful misconduct; and 4) Claims by any employee of
Indemnitor relating in any way to workers’ compensation. Independent of the
indemnification duty and as a free-standing duty on the part of Vendor, Vendor shall
defend City and shall continue such defense until the Claim is resolved, whether by
settlement, judgment, or otherwise. No finding or judgment of negligence, fault, breach,

or the like on the part of Indemnitor shall be required for the duty to defend to arise.

Vendor shall give to City notice of any Claim within ten (10) calendar days. Likewise, City




Beach
evard

Robert E. Shannon
Attorney of Lon

Y
3 West Ocean Bou%
Long Beach, California 90802-4664

Telephane (562) 570-2200

Cit
33

S~ W

o 0 N9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28

shall notify Vendor of any Claim, shall tender the defense of such Claim to Vendor, and

shall assist Vendor, as may be reasonably requested, in such defense.

IN WITNESS WHEREOF, the parties have caused this document to be duly

executed with all formalities required by law as of the date first stated above.

A

A |l0(a'( ¥ 2007

Av”""‘ 12, , 2007

-2 2007

ANVIL INTERNATI
a Delaware corpo

By:

By j v/fw U A "’ s
MaryLi‘Zﬁ}i/ G{E/Zidﬁﬁ

(Type or Print Name)

By /o JZ Mo—

Secretan— VP Riwave—~
[/UA({U\-'\ 3 ?Mm'&-g

(Type or Print Name)

NAL, INC-+ LP
} imited partnership

H

w ] TED ?
Vendor EXECU 10N 01 O

o SBCTIO
2?13 cITY CHARTER -

CITY OF LONG BEACH, a municipal corporation
. * ASSISTAM]
oy_(hhuidiig - W

City Manager

llCity" /
This Agreement is approved as to formon L’: [ 7/ ,2007.

L:\APPS\CtyLaw32\WPDOCS\D022\P005\00100609.WPD
07-00803

ROBERT E. SHANNON, Gi hey
By 7

Deputy City Attorney




EXHIBIT “A”
EQUIPMENT AND PRICES

[ATTACHED]

-
o

N n < v WO
e e

002Z-0LS (795) 2uoydapy,
$99y-70806 BIUIO][ED) “UIBIF SuoT]
PIEAINOY UBIIQ ISIA €€€
yarag duo- jo L3uaony A
uouueyys g 1430y

o~
—

o0
v

(=)
—

=
(o]

—
@\

o
(@]

o
(o]

<
o

vy
N

\O
o

o~
(@]

[o0]
[}



City Of Long Beach - Contract Pricing

Effective January 29, 2007

O BEA PAR RR
O OD D RIPTIO B PR PR

405-24-01-003 #1 Lubricant, Stick, Ground Key 853 $17.730 $29.43
659-33-48-325 3/4" Compression Fitting 13140 $38.030 $38.03
659-50-09-667 3/4" x 2" |[Nipple, Save-A-Vaive 17490 $14.380 $15.27
659-50-09-678 1" x 3" Nipple, Save-A-Valve 17490 $11.810 $12.54
659-50-09-679 1-1/4" x 3" |Nipple, Save-A-Valve 17490 $25.580 $27.18
659-50-09-681 2" x 3" Nipple, Save-A-Vaive 17490 $35.950 $38.20
659-54-28-665 | 3/8 x 1-1/4" |Plug, Taper Screw 514258 $3.690 $3.80
659-54-28-667 | 5/8" x 2-1/8" |Plug, Taper Screw 514259 $5.130 $5.13
659-54-28-668 | 13/16" x 2-3/4" |Plug, Taper Screw 514260 $8.230 $8.23
659-54-28-669 1"x 3-3/16 _ |Plug, Taper Screw 514261 $8.820 $8.82
6859-54-29-704 3/14" Plug, Service, Type AO 10758 $16.330 $17.15
659-54-29-705 1" Plug, Service, Type AO 10758 $18.010 $18.91
659-54-29-706 1-1/4" Plug, Service, Type AO 10758 $20.370 $21.39
659-54-29-707 1-1/2" Plug, Service, Type AO 10758 $23.040 $24.19
659-54-37-335 2" Line Stopper, Weld 17190 $49.460 $49.46
659-54-37-336 3" Line Stopper, Weld 17190 $100.600 $100.60
659-54-37-337 4" Line Stopper, Weld 17190 $115.850 11.5.85
659-54-38-341 2" Line Stopper, Weld 17125 $91.150 $91.15
659-54-39-342 3" Line Stopper, Weld 17255 $376.350 $376.35
659-54-39-343 4" Line Stopper, Weld 17255 $454.950 $454.95
659-54-39-344 6" Line Stopper, Weld 17255 $717.320 $717.32
659-54-39-345 8 Line Stopper, Weld 17255 $1,142.030 $1,142.03
659-54-39-346 10 Line Stopper, Weld 17255 $4,755.320 $4,755.32
659-54-39-348 12" Line Stopper, Weld 17255 $4,755.320 $4,755.32
659-54-42-343 3" Line Stopper, Bottom Out 17260 $396.070 $372.78
659-54-42-345 6" Line Stopper, Bottom Out 17260 $761.800 $716.98
659-84-08-882 3" Tee, Flanged 17505 $366.020 $366.02
659-84-08-883 4" Tee, Flanged 17505 $469.720 $469.72
659-84-08-884 6" Tee, Flanged 17505 $794.200 $794.20
659-84-08-885 8" Tee, Flanged 17505 $1,249.920 $1,249.92
659-84-09-934 1" Tee, Service Weld 17650 $22.540 $22.54
659-84-09-935 1-1/4" Tee, Service Weld 17650 $36.580 $36.58
659-84-10-944 2" Tee, Service Weld 17500 $85.030 $85.03
670-53-01-999 Control Chamber 17025 $478.590 $502.52




LONG BEACH
STOCK CODE
670-53-01-001

SIZE

DESCRIPTION
Arm, Control Chamber

MUELLER

PART
NUMBER
78821

CURRENT
UNIT PRICE
$17.960

NEW

UNIT
PRICE
$18.86

670-53-01-002 Body, Control Chamber 78816 $154.410 7?7
670-53-01-003 1" Bushing, Adapter 78829 $33.750 $35.44
670-53-01-004 1-1/4" Bushing, Adapter 78830 $33.750 $35.44
670-53-01-005 1-4/2" Bushing, Adapter 78831 $33.750 $35.44
670-53-01-006 Bushing, Top 63481 $31.140 $32.70
670-53-01-007 Gasket, By-Pass Valve 78833 $1.490 $1.56
670-53-01-008 Handle 78820 $11.660 $12.24
670-53-01-001 Control Chamber Arm 78821 $17.960 $18.86
670-53-01-002 Control Chamber Body 78816 $154.410 $162.13
670-53-01-003 Adapter Bushing 78829 $33.750 $35.44
670-53-01-010 Holder, Seat Washer 78822 $14.900 $15.64
670-53-01-012 Lock-Nut, Handle 71656 $1.000 $1.39
670-53-01-013 Lock Washer, Locknut 46273 $1.490 $1.56
670-53-01-014 Nut Packing 78819 $17.960 $18.86
670-53-01-015 Nut, Retaining 78824 $9.770 $10.26
670-53-01-016 O-Ring, Adapter 78828 $2.680 $2.81
670-53-01-017 O-Ring, Nut Packing 78818 $2.340 $2.46
670-53-01-018 O-Ring, Gasket 78827 $5.460 $5.73
670-53-01-019 Seat Ring 78826 $37.210 $39.07
670-53-01-021 Screw, Connector 78825 $6.420 $6.74
670-53-01-023 Set Screw, Adapter Bushing 78845 $6.770 $7.11
670-53-01-025 Set Screw, Top Bushing 301186 $1.490 $1.56
670-53-01-026 Stem 78817 $25.420 $26.69
670-53-01-027 Bypass Valve 682054 $43.910 $46.11
670-53-01-028 Washer, Seat Ring 78837 $2.190 $2.30
670-53-01-029 Seat Washer 78823 $5.090 $5.34
670-53-02-030 Completion Machine, Model 2 17045 $391.320 $410.95
670-53-02-031 Body 79181 $77.040 $80.89
670-53-02-032 Extracting Fork 78897 $39.960 $41.96
670-53-02-033 Body Gasket 47756 $1.210 $1.27
670-53-02-034 Handle 80488 $74.750 $78.49
670-53-02-035 Knob 78853 $19.220 $20.18
670-53-02-036 Adapter Nipple 36733 $52.290 $54.90
670-53-02-038 O-Ring, Completion Machine 72239 $1.850 $1.94
670-53-02-039 Knob Screw 56178 $7.480 $7.85
670-53-02-040 Shaft 80492 $95.790 $100.58




LONG BEACH
STOCK CODE
670-53-03-043

DESCRIPTION
Valve Changer (M2 H-17010 3/4")

MUELLER

PART
NUMBER
83962

CURRENT
UNIT PRICE
$406.830

NEW
UNIT
PRICE

$427.17

670-53-03-045 314" Shaft, Crank 83276 $57.880 $60.77
670-53-03-046 3/4" Ferrule, Shaft 51189 $30.850 $32.18
670-53-03-047 3/4" Nut, Ferrule Retaining 52969 $8.540 $8.97
670-53-03-048 Nut, Shaft 51134 $13.220 $13.88
670-53-03-050 O-Ring, Top Shaft 53856 $2.070 $2.17
670-53-03-051 O-Ring, Top Shaft 79514 $2.640 $2.77
670-53-03-052 314" Plug, Rubber 51243 $12.230 $12.84
670-53-03-055 314" Shaft 83965 $79.770 $83.76
670-53-03-056 3/4" Tube Shaft 83966 $173.290 $181.95
670-53-03-057 3/4" Washer, Shaft Tube 51159 $4.240 $4.45
670-53-04-058 1" Valve Changer (M2 H17010 1") 83963 $454.020 $476.72
670-53-04-060 1" Shaft, Crank 83277 $62.890 $66.03
670-53-04-061 1" Ferrule, Shaft 51288 $43.550 $45.73
670-53-04-062 1" Nut, Ferrule Retaining 53832 $0.960 $1.01
670-53-04-063 1 Shaft Nut 51249 $10.690 $11.22
670-53-04-065 O-Ring, Top Shaft 43973 $4.440 $4.66
670-53-04-066 1" Plug, Rubber 51100 $12.040 $12.64
670-53-04-069 1" Shaft 83967 $86.960 $91.31
670-53-04-070 1" Tube Shaft 83968 $162.830 $170.97
670-53-04-071 1" Washer, Shaft Tube 51059 $4.120 $4.67
670-53-05-072 1-1/4" Valve Changer (M2 H17010 1-1/4") 83964 $545.710 $573.00
670-53-05-074 1-1/4" Shaft, Crank 83278 $65.090 $68.34
670-53-05-075 1-1/4" Ferrule, Shaft 51106 $42.090 $44.19
670-53-05-076 1-1/4" Nut, Ferrule Retaining 53863 $3.200 $3.36
670-53-05-077 1-1/4" Nut, Shaft 51101 $12.230 $12.84
670-53-05-080 1-1/4" Plug, Rubber 61113 $11.660 $12.24
670-53-05-083 1-1/4" Shaft 580391 $75.240 $79.00
670-53-05-084 1-1/4" Tube Shaft 580392 $226.790 $238.13
670-53-05-085 1-1/4" Washer, Shaft Tube . 51110 $4.450 $4.67
670-53-06-086 314" Plugging Unit (H-17015 3/4") ***** 017015 250 $440.650 $462.68
670-53-06-088 3/4" Shaft Ferrule 500751 $22.970 $24.12
670-53-06-089 3/4" Plug, Rubber 500752 $20.510 $21.54
670-53-06-090 314" Shaft 83815 $85.300 $89.56
670-53-06-091 3/4" Tube Shaft 83859 $136.160 $142.97
670-53-07-092 1" Plugging Unit (H-17015 1") **** 017015 330 $440.650 $462.68
670-53-07-094 1" Shaft Ferrule 500754 $26.420 $27.74




O BEA

O OD D RIPTIO BER PR R

670-53-07-095 1" Plug, Rubber 500755 $27.960 $29.36
670-53-07-096 1" Shaft 83839 $97.860 $102.75
670-53-07-097 1" Tube Shaft 83860 $154.690 $162.68
670-53-08-098 1-1/4" Plugging Unit (H-17015 1-1/4") *** 017015 420 $440.650 $462.68
670-53-08-100 1-1/4" Shaft Ferrule 500758 $18.730 $19.67
670-53-08-101 1-1/4" Plug, Rubber 500759 $25.050 $26.30
670-53-08-102 114" Shaft 83816 $72.710 $76.35
670-53-08-103 1-1/4" Tube Shaft 83861 $150.040 $157.54
670-53-09-114 O-Ring (H-17619 Insp Flange) 46726 $1.930 $2.03
670-53-09-120 Sleeve (H-17618 insp Flange) 46784 $18.990 $19.94
670-53-10-124 Chip Sweeper 580902 $194.490 $204.21
670-53-10-126 Wire Brush, Chip Sweeper 502912 $17.330 $18.20
670-53-11-132 3/4" Service Tee Stop Machine 17040 $315.280 $331.04
670-53-12-147 Screw, E-4 Drill Machine 40013 $1.210 $1.27
670-53-12-164 Grease, Cuttin 88366 $13.530 $14.21
670-53-13-171 E-5 Drill Machine, Complete E-5 $1,136.620 $1,193.45
670-53-14-187 D-5 Drill Machine, Complete D-§ $1,436.120 $1,507.93
670-53-14-195 Gland, Packing 51377 $61.470 $64.54
670-53-14-198 Gasket, Body 33278 $1.230 $1.29
670-53-15-208 5/8" Drill 61982 $71.870 $75.46
670-53-15-210 34" Drill 61790 $97.710 $102.60
670-53-15-212 7/8" Drill 61990 $96.580 $101.41
670-53-15-224 1-1/2" Drill 33537 $169.840 $178.33
670-53-16-242 1-3/14" Pilot Drill, 1-3/4" Shell Cutter 502906 $26.420 $27.74
670-53-16-251 2-3/14" Pilot Drill, 2-3/4" Shell Cutter **** 502932 $96.120 $100.93
670-53-16-253 3" Pilot Drill, 3" Shell Cutter 33976 $140.350 $147.37
670-53-18-265 5/8" Drill Holder 61981 $60.900 $63.94
670-53-18-268 314" Drill Holder 61789 $66.240 $69.55
670-53-18-269 7/8" Drill Holder-Reamer 61993 $66.240 $69.55
670-53-18-271 7/8" Drill Holder 78899 $66.240 $69.55
670-53-18-275 Drill Holder 78900 $66.240 $69.55
670-53-19-299 2-3/14" Shell Cutter 504223 $395.410 $415.18
670-53-19-300 3-3/4" Shell Cutter 504224 $686.040 $720.34
670-53-22-352 314" Tool, Steel Shut-Off 45628 $111.260 $116.82
670-53-22-354 7/8" Tool, Steel Shut-Off 45628 $111.260 $116.82
670-53-22-387 2" Replacement Rubber 502916 $24.140 $25.35
670-53-22-388 3" Replacement Rubber 505846 $65.690 $68.97




LONG BEACH
STOCK CODE
670-53-22-389

DESCRIPTION
Replacement Rubber

MUELLER
PART
NUMBER
505848

CURRENT
UNIT PRICE
$93.070

NEW

UNIT
PRICE
$97.72

670-53-22-403 Tool, Extracting 80088 $129.790 $136.28
670-53-22-404 3" Tool, Extracting 89061 $208.630 $219.06
670-53-22-401 Tool, Inserting 33569 $88.810 $93.25
670-53-22-402 Tool, Ingerting **** 83400 $249.170 $261.63
670-53-22-413 5/8" Drill Holder 63396 $63.950 $67.15
670-53-22-418 Lubricant, Rubber Stopper 580657 $12.040 $12.64
670-53-23-460 Tool, Extracting 580941 $269.950 $283.45
670-53-23-464 Tool, Plug Extracting 83521 $511.920 $537.52
670-53-23-465 Fork, Extracting Tool 53508 $236.230 $248.04
670-53-23-467 Tool, Thread Cleaning 89321 $266.060 $279.36
670-53-24-493 O-Ring 43922 $10.330 $10.33
670-53-24-494 O-Ring 503164 $2.600 $2.60
670-53-24-495 O-Ring 60192 $3.450 $3.45
670-53-24-502 3" Gasket, Flange 43859 $4.260 $4.26
670-53-24-503 4" Gasket, Flange 36377 $6.370 $6.37
670-53-24-504 6" Gasket, Flange 62945 $7.050 $7.05
670-53-24-258 8" Gasket, Flange 63094 $14.070 $14.07
670-53-24-506 10 & 12"  |Gasket, Flange 46434 $24.520 $25.52
670-53-25-513 Relubricating Tool 11199 $93.230 $97.89
670-53-26-516 Gasket Assembly (H-13140 CF, 55388) 505388 $2.810 $2.81
670-53-26-517 Insert (H-13140 CF, 505998) 505998 $10.050 $10.05
815-22-02-001 3/32" Gasket Material - Nitrile 518841 $111.240 $111.24
890-75-01-019 . Key, Barrel Lock 504980 $61.330 $69.92
890-75-05-002 314" Lock, 3/4" Meter Stop 11093 $19.180 $21.87
890-75-05-003 1" Lock, 1" Meter Stop 11093 $21.830 $24.89
890-75-07-003 Pin, 3/4" Meter Valve Lock 504978 $6.240 $6.24
890-75-07-006 Pin, 1" Meter Valve Lock 504979 $6.820 $10.00




